HekoTopble 6abouykn, Kak NTuLbl, yneTatoT Ha

3MMOBKY
’$ &o 05 » 6,8:2

10,5:5
80,64:8
0,3:6
2.4:4
1:4




HekoTopble 6abouykn, Kak NTuLbl, yneTatoT Ha
3MIMOBKY

’$ &o 05 6,8:2
= 10,5:5
80,64:8
-
AN 0,3:6
% 2,4:4
’ \Y 1:4

pe

M|O




HekoTopble 6abouykn, Kak NTuLbl, yneTatoT Ha
3MIMOBKY

’$ &o 05 6,8:2
10,5:5
=» 380,64:8
-
AN 0,3:6
% 2,4:4
’ \Y 1:4

pe




HekoTopble 6abouykn, Kak NTuLbl, yneTatoT Ha

3MIMOBKY

’»

,s .
ity
N 'R

pe

6,8:2
10,5:5
80,64:8

= 0.3:6

2.4:4
1:4




HekoTopble 6abouykn, Kak NTuLbl, yneTatoT Ha

3MIMOBKY

’»

,s .
ity
N 'R

pe

6,8:2
10,5:5
80,64:8
0,3:6

- 2.4:4

1:4




HekoTopble 6abouykn, Kak NTuLbl, yneTatoT Ha

3MIMOBKY

’»

,s .
ity
N> =

pe

6,8:2
10,5:5
80,64:8
0,3.6
2,4:4

‘1:4




